——

SPEEDW/Y

ROLLER&C;’ONVEYOR

g™

’ f— ——

/




Tel.-(02)-892-1846-50 SPEEDWAY Ssmmw

SPEEDWAY How to USE Roller Code

@ ROLLER DIAMETER

@ ROLLER SERIES

© ROLLER THICKNESS
@ ROLLER LENGTH (mm.)
© MEASUREMENT TYPE

—— (© ROLLER MATTERIAL

——— (@ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

() ROLLER DIAMETER

19 | 20

25 | 30

32 | 34

38 |41.5

42 | 48

50 | 57

60 | 76

@) ROLLER SERIES

A

M

P

H

%

D

@ () ROLLER LENGTH

200E

300E

400E

500E

600E

700E

800E

| O ROLLER MATTERIAL

Z (Znplating)

S (Stainless) P (PVC)

(@ SHAFT DIAMETER

6|

8 | 10 | 12 [ 125 [ 127 | 14 | 15 | 20

(® SHAFT TYPE

F (FLAT12x12) |

S (SPRING)

[ () SHAFT MATTERIAL

Z (Znplating) |

S (Stainless) | P (PVC) |

LOAD CAPACITY (kgs)

(Average)

AuarvnuTud

\dan Code Roller Lenght @
grusatdaneuiasassnals’
ANsiagn1g Lufidadndge

S = SPRING
P = PIN LOCK
T = TAPPING
F = FLAT

@ FudiidTesvasoua

@ sFudrnunauny

\dan Code Roller Lenght @
Tas9inlutnsu iy Diameter
FEWART WAYATIALGIALNIIIY

ROLLER
CODE
SIMPLE

\dan Code Roller Lenght @
Taseialutwsy v Diameter

Z = STEEL ZN PLATING

S = STAINLESS SUS304

A = ALUMINUM

P = POLY : PLASTIC PVC/ABS

Z = STEEL ZN PLATING
S = STAINLESS SUS304

A = ALUMINUM




SSYSTEMW SPEEDWAY Tel.-(02)-892-1846-50

SPEEDWAY A-Series ROLLER

@ ROLLER DIAMETER
STEEL END CAP - @ ROLLER SERIES
BEARING (o6 © ROLLER THICKNESS
@ ROLLER LENGTH (mm.)
© MEASUREMENT TYPE

© ROLLER MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

STEEL END CAP @ ROLLER DIAMETER
BEARING @ ROLLER SERIES
SPRING ——————— © ROLLER THICKNESS
@ ROLLER LENGTH (mm.)
© MEASUREMENT TYPE

© ROLLER MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER
erBE; s;\l’\ll)GCAP - @ ROLLER SERIES
SPRING | r © ROLLER THICKNESS
@ ROLLER LENGTH (mm.)
| © MEASUREMENT TYPE

- @ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

S = SPRING Z = STEEL ZN PLATING Z = STEEL ZN PLATING
P = PIN LOCK S = STAINLESS SUS304 S = STAINLESS SUS304
T = TAPPING A = ALUMINUM A = ALUMINUM

F = FLAT P = POLY : PLASTIC PVC/ABS



Tel.-(02)-892-1846-50 SPEEDWAY Ssmmw

SPEEDWAY M-Series ROLLER

@ ROLLER DIAMETER

@ ROLLER SERIES

© ROLLER THICKNESS
STEEL END CAP @ ROLLER LENGTH (mm.)|

v i BEARING | [ © MEASUREMENT TYPE

JHHEEAHE

6
S @ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

’ © ROLLER MATTERIAL

@ ROLLER DIAMETER

@ ROLLER SERIES

© ROLLER THICKNESS

Vo STEEL BN AP [ @ ROLLER LENGTH (mm.)
/ e | © MEASUREMENT TYPE

I
25 | M|12|_|400  E ‘ z ’— © ROLLER MATTERIAL
JHBEEISFYIHE
S

S - 465 E @ SHAFT MATTERIAL

| —————————— @ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

v

@ ROLLER DIAMETER
@ ROLLER SERIES
© ROLLER THICKNESS
STEEL END CAP @ ROLLER LENGTH (mm.)
Vi i | © MEASUREMENT TYPE
/

© ROLLER MATTERIAL

© SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER

STEEL END CAP
BEARING
SPRING

@ ROLLER SERIES

© ROLLER THICKNESS
@ ROLLER LENGTH (mm.)
© MEASUREMENT TYPE

© ROLLER MATTERIAL

@ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

STEEL END CAP
BEARING

@ ROLLER DIAMETER

@ ROLLER SERIES

© ROLLER THICKNESS
@ ROLLER LENGTH (mm.)
© MEASUREMENT TYPE

© ROLLER MATTERIAL

© SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

STEEL END CAP

JHHHEAHHE

-lel 5]
|6

@ ROLLER DIAMETER
@ ROLLER SERIES

© ROLLER THICKNESS
@ ROLLER LENGTH (mm.
© MEASUREMENT TYPE

© ROLLER MATTERIAL

© SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

STEEL END CAP
BEARING

JHHHERHE

R
|6

@ ROLLER DIAMETER
@ ROLLER SERIES

© ROLLER THICKNESS
@ ROLLER LENGTH (mm..
© MEASUREMENT TYPE

© ROLLER MATTERIAL

© SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

STEEL END CAP
BEARING  SpRING

@ ROLLER DIAMETER
@ ROLLER SERIES

© ROLLER THICKNESS
@ ROLLER LENGTH (mm.
© MEASUREMENT TYPE

76 | M| 3|_1400| E | Z | (O ROLLER MATTERIAL
JHHEHERHE

s8] -[B[a[5] o

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER




Ssmmw SPEEDWAY Tel.-(02)-892-1846-50

SPEEDWAY P-Series ROLLER

S=E 1+ 20 @ ROLLER DIAMETER
@ ROLLER SERIES
© ROLLER THICKNESS

/ PLASTIC END CAP @ ROLLER LENGTH (mm.)
/—SPRING [~ (© MEASUREMENT TYPE

- © ROLLER MATTERIAL
3] (4]

= @© SHAFT MATTERIAL
L

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER

@ ROLLER SERIES

- @ ROLLER THICKNESS
/~PLASTIC END CAP [ @ ROLLER LENGTH (mm.)|

Vi FESPRING, | ——— (© MEASUREMENT TYPE

/

7
m o © ROLLER MATTERIAL
3] o

@ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER
PLASTIC END CAP @ ROLLER SERIES
BEARING © ROLLER THICKNESS
SPRING [ @ ROLLER LENGTH (mm.)
- © MEASUREMENT TYPE

© ROLLER MATTERIAL

@ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER

@ ROLLER SERIES

© ROLLER THICKNESS

@ ROLLER LENGTH (mm.)
© MEASUREMENT TYPE

© ROLLER MATTERIAL

@ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER

@ ROLLER SERIES

© ROLLER THICKNESS

@ ROLLER LENGTH (mm.)
© MEASUREMENT TYPE

PLASTIC END CAP
BEARING

© ROLLER MATTERIAL

@ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER
PLASTIC END CAP S=E + 25 @ ROLLER SERIES
BEARING © ROLLER THICKNESS
i [ © ROLERLENGTH(mm)

© MEASUREMENT TYPE

2 ‘ i ‘400 © ROLLER MATTERIAL

JHHBEFIH R

S -— 4é5 E ——— @ SHAFT MATTERIAL

| —————————— @ SHAFT TYPE
@ SHAFTLENGTH
@ SHAFT DIAMETER

S = SPRING STEEL ZN PLATING Z = STEEL ZN PLATING
P = PIN LOCK STAINLESS SUS304 S = STAINLESS SUS304
T = TAPPING ALUMINUM A = ALUMINUM
F = FLAT = POLY : PLASTIC PVC/ABS




Tel.-(02)-892-1846-50 SPEEDWAY Ssmmw

SPEEDWAY H-Series ROLLER

@ ROLLER DIAMETER
@ ROLLER SERIES
BEARING © ROLLER THICKNESS
/ [~ SPRING @ ROLLER LENGTH (mm.)

/ | [ (© MEASUREMENT TYPE

| R’%s‘ GHI é|_|4g,°| Eo | 6|7 © ROLLER MATTERIAL

12.7 o 4‘%5 E ——— @ SHAFT MATTERIAL

© SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER

RINGS LOCK @ ROLLER SERIES

© ROLLER THICKNESS
—— @ ROLLER LENGTH (mm.)

| | —— (© MEASUREMENT TYPE

R‘ éﬂ‘ @HI 92|_|42’0| EO I é| —— (O ROLLER MATTERIAL

S - 4é5 E ——— @ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER
RINGS LOCK @ ROLLER SERIES
BEARING © ROLLER THICKNESS

SPRING @ ROLLER LENGTH (mm.)
| | | r © MEASUREMENT TYPE
JHEHEHHE
© ©|© 01606

S - 4%0 E — @ SHAFT MATTERIAL

© SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

© ROLLER MATTERIAL

@ ROLLER DIAMETER
RINGS LOCK @ ROLLER SERIES
BEARING © ROLLER THICKNESS

SPRING —— @ ROLLER LENGTH (mm.)|
| [ (© MEASUREMENT TYPE

R‘ %0‘ HI é|_|4000| EO | 6| © ROLLER MATTERIAL

@ SHAFT TYPE
© SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER
RINGS LOCK @ ROLLER SERIES
BEARING © ROLLER THICKNESS
SPRING @ ROLLER LENGTH (mm.)
© MEASUREMENT TYPE

© ROLLER MATTERIAL

@ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

T @ ROLLER DIAMETER
RINGS LOCK @ ROLLER SERIES
BEARING © ROLLER THICKNESS
SPRING | T @ ROLLER LENGTH (mm.)}
—— (© MEASUREMENT TYPE

© ROLLER MATTERIAL

@ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

= SPRING

S STEEL ZN PLATING STEEL ZN PLATING
P = PIN LOCK

T

E

STAINLESS SUS304 STAINLESS SUS304
ALUMINUM ALUMINUM
= POLY : PLASTIC PVC/ABS

TAPPING
= FLAT

VL
S
A
P




S
P
T
F

S

smmw SPEEDWAY Tel.-(02)-892-1846-50

SPEEDWAY V-Series ROLLER

- @ ROLLER DIAMETER
/—PLASTIC END CAP -~ @ ROLLER SERIES
,—SPRING [ @ ROLLER THICKNESS
[ @ ROLLER LENGTH (mm.
© MEASUREMENT TYPE

EE —— O ROLLER MATTERIAL

——— @ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@) SHAFT DIAMETER

- @ ROLLER DIAMETER
—PLASTIV END CAP ———— @ ROLLER SERIES
~SPRING © ROLLER THICKNESS
@ ROLLER LENGTH (mm.
© MEASUREMENT TYPE

© ROLLER MATTERIAL

© SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER
@ ROLLER SERIES

© ROLLER THICKNESS
@ ROLLER LENGTH (mm.
© MEASUREMENT TYPE

© ROLLER MATTERIAL

@ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER
@ ROLLER SERIES
~PLASTIC END CAP © ROLLER THICKNESS
— BEARING 6002 @ ROLLER LENGTH (mm.
—— (© MEASUREMENT TYPE

© ROLLER MATTERIAL

——— (@ SHAFT MATTERIAL

@ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER
@ ROLLER SERIES

© ROLLER THICKNESS
@ ROLLER LENGTH (mm.
© MEASUREMENT TYPE

~ @ SHAFT TYPE
@ SHAFT LENGTH
@) SHAFT DIAMETER

= SPRING Z = STEEL ZN PLATING Z = STEEL ZN PLATING
= PIN LOCK S = STAINLESS SUS304 S = STAINLESS SUS304
= TAPPING A = ALUMINUM A = ALUMINUM

= FLAT P = POLY : PLASTIC PVC/ABS



Tel.-(02)-892-1846-50 SPEEDWAY Ssmmw

SPEEDWAY D-Series ROLLER

@ ROLLER DIAMETER
@ ROLLER SERIES
@ ROLLER THICKNESS
/— PLASTIC END CAP @ ROLLER LENGTH (mm.
/ SPRING | T © MEASUREMENT TYPE

@ ROLLER MATTERIAL

© SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER

- @ ROLLER SERIES
© ROLLER THICKNESS
@ ROLLER LENGTH (mm.)
~—————— © MEASUREMENT TYPE

EE ~——— (O ROLLER MATTERIAL

- @ SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

@ ROLLER DIAMETER
@ ROLLER SERIES
—— © ROLLER THICKNESS
[ PLASTIC END CAP @ ROLLER LENGTH (mm.)|
/ —SPRING © MEASUREMENT TYPE

© ROLLER MATTERIAL

© SHAFT TYPE
@ SHAFT LENGTH
@ SHAFT DIAMETER

S = SPRING Z = STEEL ZN PLATING Z = STEEL ZN PLATING
P = PIN LOCK S = STAINLESS SUS304 S = STAINLESS SUS304
T = TAPPING A = ALUMINUM A = ALUMINUM

= FLAT P = POLY : PLASTIC PVC/ABS



smm SPEEDWAY Tel.-(02)-892-1846-50

SPEEDWAY NYLON 6 PLASTIC SPROCKET-MP

SCREW
PR MP91 SPROCKET ROLLER

m mma

L ROLLER LENGTH.

ROLLER DIAMETER. [JELVED)
NYLON PLASTIC SPROCKET

RS40x9tx1 - NYLON

M8x20
RSA0KL1tK1 - NYLON = IDES MP111 SPROCKET ROLLER

mm: mmez

t L ROLLER LENGTH.

ROLLER DIAMETER. vy
—» NYLON PLASTIC SPROCKET [ Xe{e/f5io 4

SCREW
291088 MP141 SPROCKET ROLLER

mzm-m- mEz

RS40x14tx1 - NYLON

4, ROLLER LENGTH.
ROLLER DIAMETER. L]
NYLON PLASTIC SPROCKET  [Xe{e/f5i v 4

R= M8x20
N S=E + 1 2I0Es MP142 SPROCKET ROLLER

(Mp1a2 [ 50 M 300 [

o

_. ROLLER LENGTH.
L» ROLLER DIAMETER.
NYLON PLASTIC SPROCKET  [XJ[F%1

S = SPRING Z = STEEL ZN PLATING Z = STEEL ZN PLATING
P = PIN LOCK S = STAINLESS SUS304 S = STAINLESS SUS304
T = TAPPING A = ALUMINUM A = ALUMINUM

F = FLAT P = POLY : PLASTIC PVC/ABS



S = SPRING
P = PIN LOCK
T = TAPPING

= FLAT

Tel.-(02)-892-1846-50 SPEEDWAY Ssmmw

SPEEDWAY STEEL SPROCKET-MS

SCREW
M8x20
2SIDES

o SCREW
M8x20
RS40x10tx2 - STEEL 2SIDES

RS40x14tx1 - STEEL

= SCREW
M8x20
RS40x14tx2 - STEEL = 2SIDES

STEEL ZN PLATING
STAINLESS SUS304
ALUMINUM

= POLY : PLASTIC PVC/ABS

MS101 SPROCKET ROLLER
[MS101 8y 50 B§ 400 |22

7
—®» ROLLER LENGTH.

—» ROLLER DIAMETER. 50/60
STEEL SPROCKET RS40x10tx1 [EEC|

MS102 SPROCKET ROLLER
[MS1028) 50 R 400 [

7 (
L ROLLER LENGTH.
ROLLER DIAMETER.

STEEL SPROCKET RS40x10tx2 [[EEMl|

MS141 SPROCKET ROLLER
ms1a1 [ S0 W 400 [

L L ROLLER LENGTH.
ROLLER DIAMETER. 50/60
>

STEEL SPROCKET RS40x14tx1 [EE{Z

MS142 SPROCKET ROLLER
IMs1a2] 50 By 400 L

\; L ROLLER LENGTH.

» ROLLER DIAMETER.
»  STEEL SPROCKET RS40x14tx2 [EECM

Z = STEEL ZN PLATING
S = STAINLESS SUS304
A = ALUMINUM



Ssmmw SPEEDWAY Tel.-(02)-892-1846-50

SPEEDWAY STEEL SPROCKET-MU

SCREW
M8x20
ZIDES MU141 SPROCKET ROLLER

[MUia1ly 50 B§ 400 [o4
/ 3

tb ROLLER LENGTH.

» ROLLER DIAMETER. 50/60
—>» STEEL SPROCKET RS40x14tx1 ACC/FIX

X,
2SIDES MU142 SPROCKET ROLLER

(Mu142]g) 50 B 400 [
b 4 / f
» ROLLER LENGTH.

» ROLLER DIAMETER. 50/60
» STEEL SPROCKET RS40x14tx2 ACC/FIX

S = SPRING Z = STEEL ZN PLATING Z = STEEL ZN PLATING
P = PIN LOCK S = STAINLESS SUS304 S = STAINLESS SUS304
T = TAPPING A = ALUMINUM A = ALUMINUM

F = FLAT P = POLY : PLASTIC PVC/ABS



Tel.-(02)-892-1846-50 SPEEDWAY Ssmmw

EXTENDAFLEX CONVEYOR

OVERALL WIDTH

- WIDTH

FREE ROLLER Dia 32 Steel
WIDTH (in ) 400 mm.

LENGTH 1200 - 4000 mm.
HEIGHT 550 - 850 mm.
STRUCTURE Steel Zn Plating
CASTERWHEEL PU 4" x10 ( Brake )
WEIGHT 65 kgs

CLOSE LENGTH 1200

OVERALL WIDTH 560 mm.

HEIGHT

T\ [ j S 1§ e FREE ROLLER  Dia 32 Steel

s : = WIDTH (in ) 400 mm.
LENGTH 1200 - 4000 mm.
HEIGHT 550 - 850 mm.
STRUCTURE Steel Zn Plating
CASTERWHEEL ~ PU 4" x10 (Brake )
WEIGHT 70 kgs
CLOSE LENGTH 1200
OVERALL WIDTH 560 mm.

SKATE WHEEL  Dia 38 Steel
FORMAL ALT  5/5

WIDTH (in) 400 mm.

LENGTH 900 - 4000 mm.
HEIGHT 550 - 850 mm.
STRUCTURE STEEL Zn Plating
CASTERWHEEL PU 4" x10 ( Brake )
WEIGHT 60 kgs

CLOSE LENGTH 900
OVERALLWIDTH 560 mm.




Ssmmw SPEEDWAY Tel.-(02)-892-1846-50

SPEEDWAY - CASTERBALL

OUTTER BODY _|STEEL Zn Plating OUTTER BODY |STEEL Zn Plating
MAIN BALL CARBON STEEL MAIN BALL CARBON STEEL
LOAD 20 Kgs LOAD 50 Kgs
WEIGHT WEIGHT 168 g

@7 THRU
R7.5

OUTTER BODY

STEEL Zn Plating

MAIN BALL

CARBON STEEL

LOAD

50 Kgs

WEIGHT

136 g

OUTTER BODY

STEEL Zn Plating

MAIN BALL

CARBON STEEL

LOAD

50 Kgs

WEIGHT

OUTTER BODY

STEEL Zn Plating

MAIN BALL

CARBON STEEL

LOAD

200 Kgs

WEIGHT

OUTTER BODY

NYLON PLASTIC

MAIN BALL

STAINLESS

LOAD

50 Kgs

WEIGHT

100 g

OUTTER BODY

STEEL Zn Plating

MAIN BALL

CARBON STEEL

LOAD

50 Kgs

WEIGHT

CASTERBALL B4255S

—— o~y

OUTTER BODY

NYLON 6

MAIN BALL

STAINLESS

LOAD

30 Kgs

WEIGHT

102 g

CASTERBALL B 525A

@5.5
©x

Q




Tel.-(02)-892-1846-50 SPEEDWAY SSYSTEMW

SPEEDWAY - SKATETRACK

12

(@@@@

4 A

SKATE TRACK

There are a lot of details. Please contact
us to get the relevant information of your

interested product




SSYSTEMW SPEEDWAY Tel.-(02)-892-1846-50

SPEEDWAY - SKATEWHEEL
- 1

OUTTER BODY |STEEL Zn Plating . — ' OUTTER BODY |STEEL zn Plating
BEARING STEEL PRESSED ‘ | BEARING STEEL PRESSED
LOAD 15 Kgs LOAD 15 Kgs
WEIGHT 40 g . N WEIGHT 449

SKATE WHEEL W3815 [N
S

OUTTER BODY_[NYLON 6 Plastic ] - 3 OUTTER BODY _[NYLON 6 Plastic
BEARING STEEL PRESSED y BEARING STEEL PRESSED
LOAD 15 Kgs LOAD 15 Kgs
WEIGHT 30g r— WEIGHT 33¢g

|

/ 3
OUTTER BODY |STEEL Zn Plating OUTTER BODY | HDPE Plastic
BEARING STEEL PRESSED BEARING STEEL PRESSED

LOAD 20 Kgs B : LOAD 12 Kgs
WEIGHT 789 , WEIGHT 23g

SKATE WHEEL W4505

OUTTER BODY _|[NBR RUBBER OUTTER BODY |URETHENE
BEARING STEEL PRESSED BEARING STEEL PRESSED
LOAD 15 Kgs LOAD 15 Kgs
WEIGHT 45g : - WEIGHT 51g

OUTTER BODY |HARD CHROME I OUTTER BODY |URETHENE
BEARING STEEL PRESSED | YV BEARING STEEL PRESSED
LOAD 15 Kgs LOAD 15 Kgs
WEIGHT 8449 ‘ — WEIGHT 60g




Tel.-(02)-892-1846-50 SPEEDWAY Ssmmw

ADJUSTER SUPPORT

ADJUSTER SUPPORT
PRODUCT SPEC H1 H2 H3 D G

1/2." [21]

FN-040Z

MATTERIAL  WEIGHT

Steel Zn plating

5/8." [26]

Steel Zn plating

M10x1.5 [17]

Steel Zn plating

M12x1.75 [17]

Steel Zn plating

M12x1.75 [19]

Stainless SUS304




Ssmmw SPEEDWAY Tel.-(02)-892-1846-50

ADJUSTER SUPPORT

ADJUSTER SUPPORT
PRODUCT SPEC H1 H2 H3 D G T MATTERIAL WEIGHT

M12x1.75 [19]| 2.3 | Steel Zn plating

FN-120Z

! M16x2.0 [24] | 2.3 | Steel Zn plating

FN-160LZ

! M16x2.0 [24] | 2.3 | Stainless SUS304

M16x2.0 [24] | 2.3 | Steel Zn plating

1/2." [21] .3 | Steel Zn plating




Tel.-(02)-892-1846-50 SPEEDWAY Ssmmw

ADJUSTER SUPPORT
ADJUSTER SUPPORT

PRODUCT SPEC H1 H2 H3 D G MATTERIAL  WEIGHT

5/8." [26] .3 | Steel Zn plating

M12x1.75 [19]| 2.3 | Steel Zn plating

M12x1.75 [19]| 2.3 | Steel Zn plating

M16x2.0 [24] | 2.3 | Steel Zn plating

M16x2.0 [24] | 2.3 | Steel Zn plating




S W

SYSTEM

SPEEDWAY

26/203 M1 AUBUIYULTABUAENSLR
WAILEUAT  LUAUINYULALIY
ATILNWUUIUAT 10150

26/203 Mool Bangkhuntien-Chaitalae
Samaedum Bangkhuntien
Bangkok 10150
Tel. (02) 892-1846 to 50 Fax. (02) 892-1233 , 415-6327

www.Speedwayroller.com
Email : speedway@speedwayroller.com

Speedway99@truemail.co.th



